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Word Search Y4 6 x table

Find the 4 x table answers in the number square. Circle each one.
Complete the sums in words when you have found the answers below.
All the words are across, down or diagonally.
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I1x6= six 2X6-=

3x6= 4x6=

5x6= 6x6-=

7x6-= 8x6-=

9x6= 10x 6=
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Word Search Y4 6 x table
Solution
flo|lr|t|y|le|i|lg|lh|t|h|f
flijvie|v | i|floju|r|t]i
a|/t|e|l|s|glo|ln|s n|h| f
tigle hje/h|r|i|i]|b|i]|ft
flwignv|ft|t|n|x | v|r]|y
t|d|le|gleje|y|e|t|c|t]|f
elh|s|l|njle|lijg|y|lo|y]|o
njz| i|x|v|in|kjc|v | x|s|u
alflo|lr|t|y|t|w|o|x|i|r
fli|lvie|t|f|li|v|)e|s | x|m
tlwie|n|t|y|flo|ju|r|i|n
e|l|e/vie/n|v b|b|ly| le|x

I1x6= six
3 x 6 = eighteen
5x 6 = thirty

7 x 6 = forty two

2 x 6 = twelve
4 x 6 = twenty four
6 x 6 = thirty six

8 x 6 = forty eight

9x6= fifty four 10 x 6 = sixty




